N of reco track vs dxy(PV)

N of associated (recoToSim) tracks vs dxy(PV)

N of associated (recoToSim) looper tracks vs dxy(PV)

e F L Q
5] S 3
g g g
8 g s
2 8102 8107
=
3
o e
T I
14 14
f
095 =25- 20 15 10-5 0 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25 0'—“25—20—15—10 -5 0 5 10 15 20 -25-20-15-10-5 0 5 10 15 20 25
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
DONM_MKEIT_T Torigmal
— DOM”mkFit_TT JanUpdate-noErr
[Nof reco trackvsd ——— DQM_| mkFlt“I'T_JanUpdate noErrlH e
) i R
= s é
E s
10
\ i 1 HERE:
AL )
: | 10 10l :
oL \ . \ 1 \ o © Lv9) i 1 i 1
: H\HH* HIH\H’ Il H\IH\HHE HHHHH | : \I H*\ i H\H i \HIH\HHI HHHNH H\
o i il I il e o @ 1] A I | |
I 1 I \ 1 Il I i I 1 Il
A ST BRI B AL AT RERRERER
i ! i 0.95! 1 1 1 0.95/ ! i o 1 1 1 1 1 1 1 1 1
0.2 =1-0.8-0.6-0.4-0.2 0 0.20.4 0.6 0.8 =1-0.8-0.6-0.4-0.2 0.2 -1-0.8-0.6-0.4-0.2 0 0.20.4 0.6 0.8
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (1ecoToSim) looper racks vs dz(PV) |
R 2 L kY
[5} [=} Q Q
g g 8 g
£ s s s
=1 “(E S
g
3
10™
o i i B o 2 2
AT : :
14 o 14 14
W A PO
0930 20 -10 20 30 0%/ 20 -10 0 10 20 30 30 B0 =20 -10 0 10 20 30
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV) |
¢ 2 F kY Q
S S ] s
g g s 8
2
3
10~
10
o o 8 L8
3 s 3 3 :
14 14 14 14 .
0.5~ 4= ===+ R T SREETEE EEEEE
o1 H L L L
-1 -0.5 0 0.5 1

0.5 1
track dz(PV) (cm)

0 0.5 1
track dz(PV) (cm)

0 0.5 1
track dz(PV) (cm)

track dz(PV) (cm)



	Contents
	Page 1


